A. Losungen fiir Einfeldsysteme

Tabelle A.37.: Beidseitig eingesp. Einfeldtrager mit Streckenlast

Randwerte:

Vi = %l V10:q*1/2

)
My = S5 M10:-q*142/12

P10 = 0 phi1®:®

w10 =0 wl0:0

Auflagerkrifte:

A=T A:ig*1/2

B=1 B:g*1/2

Funktionsgleichungen:

V() = 12D yx1: ¥ (2#%x1-1) /2

—q(6x2—6lx1+12
M(xq) = w Mx1:-q*(6*x142-6*1*x1+142) /12

Pley) = LU DETD phix1:-gFx1* (x1-1)* (2#x1-1) /(12%ET)

_ i -D?

w(x1) = —5grr— wWxliq*x142*(x1-1)42/(24*EI)

Extremwerte:

)
Mmaxmp =Mp=Mx=1I)= % MmaxEinsp:-g*142/12

2
Minax,, = % MmaxFeld:q*142/24

1
Xw,max = bl 1/2

4

Wiiay = 5o Wmax1:q*144/(384*ET)
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